Half Arm & Hardware

(Half Arm NLA on chairs built after 6/23/99)

Left side shown only




(Half Arm NLA on chairs built after 6/23/99)

Half Arm & Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 8881053570 | Kit, Arm Pad w/ Screws, Desk Length (Pair) 2 1
1 1032244 Grip, Foam Hand (9" L) 1 1
2 1026107 Screw, Phillips Pan Head (#10-32 x 1-3/8") 1 2
3 1069815-NLA | NLA - Half Arm Assembly, Black - Right 1 1
3 1069816-NLA | NLA - Half Arm Assembly, Black - Left 1 1
4 1032206-NLA | NLA - Socket, Arm, Rear - Right 1 1
4 1032207-NLA | NLA - Socket, Arm, Rear - Left 1 1
5 1009861 Spacer, Coved (1/4 x 11/16 x 1/2") 1 2
6 1055348 Screw, Hex Head (1/4-28 x 1-3/4") 1 3
7 1026907 Washer (1/4 x 1/2 x 1/16") 1 2
8 7930334-NLA | NLA - Locknut (1/4-28) 25 3
9 1026900 Washer (1/4 x 23/32 x 1/16") 1 2
10 1018687 Sleeve, Bearing 1 1
11 1027062 Kit, Half Arm Mounting Hardware 2 1

NOTE: A - Specify upholstery color, see page titled, "Upholstery Color Options" when ordering.

Half-Arms NLA on chairs built after 6/23/99.




